
Write an argumentative text based on the text “The Chief Features of the Industrial Revolution”
The purpose of the present text is to convey a general image of the Industrial Revolution basing on the text “The Chief Features of the Industrial Revolution”.
The Industrial Revolution is the substitution of competition for the mediaeval regulations which had previously controlled the production and distribution of wealth.
It led to the growth of two systems of thought: economic science and socialism. The first developed thanks to four main publications: Adam Smith’s “Wealth of the Nations”, Thomas Malthus’ “Essay on Population”, David Ricardo’s “Principles of Political Economy and Taxation” and John Stuart Mill’s “Principles of Political Economy”.
The main effects of the industrial revolution were the greater rapidity in the growth of population and the decline in the agricultural population. This was caused by the destruction of the common-field system of cultivation, the enclosure of common and waste lands and the substitution of large for small farms.
These changes burdened on the population, but brought a consistent agricultural advance. This was caused by the use of a more scientific approach: the breed of cattle was improved, the rotation of crops was introduced, the steam-plough was invented, agricultural societies were instituted.
Another effect of the Industrial Revolution was the growth of industry. It was caused by the application of mechanical inventions (such as the spinning jenny, the water frame, Crompton’s mule, the self acting mule, and, most importantly, the steam engine and the power loom) to the textile industry, by the mechanical revolution in the iron industry (with the invention of smelting by pit coal and te application of the steam engine to blast furnaces) and the improvement of the means of communication (with the development of the canal system and the improvement of roads and railroads).
All these factors caused an increase in commerce and the substitution of the factory system for the domestic system, but also a revolution in the distribution of wealth. 
In agriculture this brought a rise in rents, caused by the investment of money in improvements, the enclosure system, the consolidation of farms and the high price of corn, but it brought social changes, too. Farmers now shared the prosperity of landlords, becoming a distinct class and ceasing to live with their laborers. However this brought class conflict between farmers and laborers, too. Working people lost their common rights and felt the burden of high prices while their wages were falling.
In conclusion, the Industrial Revolution shows that free competition may produce wealth without producing well-being.
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